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2021
GEOGRAPHY (GENERAL)

Fourth Paper (IV-A & 1V-B)
B.A. Part-11 (Theory)

Full Marks: 50 Time: Two Hours

Human Geography

Answer all guestions

The figures in the margin indicate full marks.
Paper IV-A / Section- | (MCQ)

1x15=15 Marks 30 Minutes

1.

Which parts of the globe have the highest human population densities?
(A) The Northern Hemisphere

(B) The equator

(C) The Southern Hemisphere

(D) None of these.

Which factors are regarded as the causes of migration--
(A) Push factors

(B) Pull factors

(C) Both ‘A’ and ‘B’

(D) None of the above

Where is the population growth rate fastest in the world?
(A) Sub-Saharan Africa

(B) Latin America

(C) West Asia

(D) South Asia

Who wrote the book “Adhunik VVu-porichay”?
(A) Leong and Morgan

(B) Bandhyopdhyay and Shil

(C) B.S. Neogi

(D) J. Sen

What are the basic differences between rural and urban settlement?
(A) Number of population

(B) Occupation

(C) Population density

(D) All of these
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10.

11.

12.

13.

The concept of fertility is simply defined as--

(A) The maximum possible number of children that can be born each year.
(B) The incidence of child bearing in a country's population.

(C) Used to assess the health of a population.

(D) The number of live births in a given year.

Which of the following languages is included in the Indian Constitution?
(A) Malayalam

(B) Konkani

(C) Dogri

(D) All of these.

In which state the largest number of tribals is living?
(A) Gujarat

(B) Odisha

(C) Bihar

(D) Madhya Pradesh

What is the number of female population per thousand male in India, after
Census 20117

(A) 950

(B) 980

(C) 970

(D) 940

Which one of the important indicator of human development?
(A) Optimum population

(B) Development in health facility

(C) Per capita income

(D) Immigration

At present, the world’s population growth rate is--
(A) 1.3 percent
(B) 2.0 percent
(C) 1.4 percent
(D) 2.4 percent

‘Toto' is a primitive tribal community found in the district of:
(A) Cooch Behar

(B) Alipurduar

(C) Jalpaiguri

(D) Darjeeling.

Bushmen are the native people from which of the following continents?
(A) North America

(B) South America

(C) South Africa

(D) Asia.
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14. The name of less populated state of India--
(A) Sikkim
(B) Arunachal Pradesh
(C) Assam
(D) Goa

15. Which is the main activity of the Eskimos during the short summer season?
(A) Animal grazing
(B) Lumbering

(C) Fishing
(D) Hunting
Paper IV-B / Section Il (Descriptive)
The figures in the margin indicate full marks.
Answer any two questions.
35 Marks 90 Minutes

10x2=20
1.  Discuss shortly about the scope of human geography in present context.  5+5=10
Shortly explain the problems of high population growth.
2. Distinguish between rural settlement and urban settlement. 10
3. Explain with suitable examples and illustration about the factors 10
responsible for uneven distribution of human population, over the globe.
4.  Explain the content of social geography. Briefly discuss the features of  5+5=10
lifestyle of Eskimos.
Section 111 (Descriptive)
Answer any three questions. 5%3=15
5. Define the concept of underdevelopment. 5
6.  Briefly discuss the human adaptation in mountainous region with special 5
reference to Gujjar.
7. Enumerate the concept of indicator of development. 5

8.  Briefly describe the measures of mortality. 5

9.  Discuss the role of religion and caste in analysing social geography of 5
India.

10. Make an interpretation of basic characteristic features of urban 5
settlement.
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(Translated Version)
Section- 1 (MCQ)

WAT J(TT 3T UT3; 5><X5a=5¢

TRRT @I TTT TATRATH ToTg THE?-
(A) SaF (el
(B) AT St
(C) wffer (STIefIee
(D) (FIEIBE &7

FAFSET FIE [F72-
(A) TT BT

(B) T e
(C)W ‘A 3B’
(D) (FIATG2 %

TRAT @ TIeE SR e T ?
(A) NF-SRIAT NPT

(B) wiSper AT

OEEXFRER

(C) wisper af*ry

“aryfas g-Afaer RBfC (& e
(A) ferR 8 JFsT

(B) TIPMENT 8 e

(C) fas as: faedt

(D) (3¢ (T

TR AT A3 TAITOIF JT NNF S F 2
(A) ST

(B) Sif=1

(C) ST=ag

(D) SIET NI

‘H6fT Faafeg 9w TaEa sy -
(A) T(&TF T=F NETE Sl (A3 7 3 127
(B) (I (T Sl AT ST AR e1
(C) SISTRATE I3 AT BT

(D) 2% T=& SifFe Frag smam
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10.

11.

12.

13.

eIFted KT fAafife @« srft/ermsf I s
(A) T

(B) F5fer

(C) oSSt

(O)ERIGERRERIEE

fAEg @9 Ty TEF STonfed @F I[N FE?
(A) SHA6

(B) a8

(C) faarm

(D) Iy T

SIAEF Y05 NEF WP JqIA 3 2NE JFE A9 AT --
(A) dto
(B) o
(C) 90
(D) >80

faea @ 330 &9 TTAEF FIF 2
(A) FTHT SeTsR2ATT

(B) fofess an=raie Tafe

(C) & M=y arx

(D) g™

TN AT ST IfHT TF -
(A) S.© oM
(B) .0 TORMT
(C) 5.8 TR
(D) 3.8 TORT

GIET THF AT TS (F (ST ST IF-
(A) (FTefRTE

(B) Snfermq =

(C) ST RSfS

(D) wifdifers

2. FICTH ARNF S5 M (ST (FTH (MCTa?
(A) TaF AT

(B) wizper ST

(C) wifger ST

(D) af<
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14.

15.

©laed YH1f4F SfIad I T--
(A) i

(B) TG ST

(C) 9rster

(D) ¢sm3AY

I T AEERT 3T (P FE IS AF?-
(A) TSETFT

(B) 10 IT

(C) MHFP1d

(®IREIE

Paper IV-B / Section Il (Descriptive)
The figures in the margin indicate full marks.
(T {6 AT B8 w13

35 Marks

10.

o

O WNFF [f{E, MAINT QONETH IHBPS] a3 TIPS
RS AT ANETEA FF | Sfo-AaF Tzl Jfad

TS TR A F9 |
SIS 932 AR Tavfed AAFy AFTT FF |

IRE T TR THET STMESTE SuRad 8 foanz
QS @S FF |
SSE SENEd [AaE soo@ (@1 | affenma Siaemars

@R T TG AT FF |

Section 111 (Descriptive)
QT fS4fE T a3 wrs

g @d (underdevelopment) SFafG fAGET F@ET |

NAFF TSy AREE Sfe@EEa [KF30, S8ama ASHES
foffsrar SIees F9 |

TFI@T AfFM=F  (indicator of development) a7 &R
Ife-msre [ReET FET |

SREFE TPE (mortality) TG “HEmSaT F7 |

TG WIS QUM &3 8 Sfed ghF AT F7 |

[ an

FIAT Savfeod sifafas @NeSH aEwar F7 |

*k*k
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90 Minutes
10x2=20
5+5=10

10
10

5+5=10

5%3=15



